3X DETAIL A
SCALE 1:3

P-WAT-2797/2X

P-WAT-2797/2X

2X DETAIL B
SCALE 1:3

2X DETAIL E YP-SS-1282 2X
SCALE1:3
P-SS-1280 2X
D
P-WAT-28013X
QTY. |PART NUMBER DESCRIPTION
4 |P-2001 1/4" 18-8 FLAT WASHER, SS 3X DETAILF
6 |P-2002 3/8"-16 STAINLESS STEEL NYLOCK NUT SCALE 1:2
6 |P-RX-2017 #10-24 STAINLESS STEEL NYLOCK NUT TOP OF HINGE )
6 |P-SS-1043 3/8" 18-8 SMALL OD FLAT WASHER
4 |P-sS-1121 1/4"-20 X 2 1/4" 18-8 STAINLESS STEEL HEX CAP SCREW PART NUMBER: REV.
6 |P-ss-1279 18-8 STAINLESS STEEL CAP NUT, 10-24 THREAD SIZE 7 P-TB-278-A -
6 |P-SS-1280 1/2" HEX DRIVE FLAT SOCKET CAP SCREW, SS TOMMY DESCRIPTION:
4 |p-sS-1281 BLACK-OXIDE ALLOY STEEL HEX DRIVE FLAT HEAD SCREW CAR WASH SYSTEMS : TIRE SHINE SHEILD RETROFIT KIT
581 Ottawa Ave. Holland, M1 49423
4 |P-SS-1282 18-8 STAINLESS STEEL NYLON-INSERT LOCKNUT, M5 THREAD 816-494-0771-tommycarwash.com
6 |P-SS-1283 18-8 STAINLESS STEEL HEX DRIVE FLAT HEAD SCREW, 10-24 THREAD, 7/8" O oTHERWISE: MATERIAL: FINISH:
1 |P-TB-236 TIRE SLING SHIELD CLEAR POLYCARB ALL DIVIENSIONS ARE IN INCHES : VARIES -
3X DETAIL C ToLERANCES:
4 |P-vAC-276 1/4"-20 18-8 SS NYLON LOCK NUT s 001 . -
2 |P-wAT-2504 3/4" STAUFF CLAMP SCALE 1:3 XXX+ 0.005 DRAWNBY: DATE:
2X DETAIL D |Xxx 0 DF 1/26/2022

ANGLE:+ 0.5 -

3 |P-WAT-2796 TIRE SHINE SHEILD HINGE SCALE 1:3 - 2
NFIDENTIAL WARNING: . .

2 P-WAT-2797 SCREW-ON TURN LATCH ) THIS SHEET CONTAINS AND CONSTITUTES APPROVED BY: DATE:
2 [P-wAT-2799 STAINLESS STEEL LATCH SPACER FOR HINGED TIRE SHINE SHEILD o e exauscs PROD. ENG. 1/26/2022
1 |P-WAT-2800 |HINGED TIRE SHINE SHIELD - STRUCTURAL SUPPORT WELDMENT FOR PLEXIGLASS SYSTEMS. ANY UNAUTHORIZED USE OR PORTION

THEREOF, IS STRICTLY PROHIBITED. SCALE SH EET
3 |P-WAT-2801 HINGED TIRE SHINE SHEILD-HING MOUNT THIS WORKIS THE EXLCUSIVE PROPERTY : INITIAL RELEASE /26120 1:10 1 OF 1

OF TOMMY CAR WASH SYSTEMS. .
3 |P-WAT-2803 SQUARE U-BOLT 3/8"-16 THREAD, 3" INSIDE WIDTH, 4-5/8" HIGH, SS ALL RIGHTS RESERVED o, REVISION/ISSUE oATe




